

PROJECT: **SUMMER / WINTER / SPRING STREET IMPROVEMENTS PROJECT**

OWNER: **City of Olivet**

BID OPENING: 02/23/2026 @ 1:30 pm

No.	Description	Qty.	Unit	Xact Excavating, LLC		Hoffman Bros, Inc		Montgomery Excavating, LLC		Rieth-Riley Construction	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization, Max \$200,000	1	LSUM	\$50,700.00	\$50,700.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00
2	_Machine Grading, Modified	28	Sta	\$800.00	\$22,400.00	\$1,765.34	\$49,429.52	\$6,900.00	\$193,200.00	\$11,000.00	\$308,000.00
3	Tree, Rem, 19 inch to 36 inch	21	Ea	\$1,900.00	\$39,900.00	\$1,350.00	\$28,350.00	\$2,450.00	\$51,450.00	\$1,650.00	\$34,650.00
4	Tree, Rem, 6 inch to 18 inch	13	Ea	\$450.00	\$5,850.00	\$700.00	\$9,100.00	\$500.00	\$6,500.00	\$400.00	\$5,200.00
5	Stump, Rem, 19 inch to 36 inch	1	Ea	\$285.00	\$285.00	\$300.00	\$300.00	\$450.00	\$450.00	\$250.00	\$250.00
6	Stump, Rem, 37 inch or Larger	1	Ea	\$450.00	\$450.00	\$500.00	\$500.00	\$325.00	\$325.00	\$400.00	\$400.00
7	Culv, Rem, Less than 24 inch	7	Ea	\$600.00	\$4,200.00	\$140.16	\$981.12	\$250.00	\$1,750.00	\$453.95	\$3,177.65
8	Dr Structure, Rem	11	Ea	\$450.00	\$4,950.00	\$208.57	\$2,294.27	\$750.00	\$8,250.00	\$423.69	\$4,660.59
9	Sewer, Rem, Less than 24 inch	1,675	Ft	\$20.00	\$33,500.00	\$24.02	\$40,233.50	\$8.00	\$13,400.00	\$25.00	\$41,875.00
10	Curb and Gutter, Rem	75	Ft	\$9.00	\$675.00	\$8.58	\$643.50	\$8.00	\$600.00	\$10.65	\$798.75
11	Masonry and Conc Structure, Rem	10	Cyd	\$75.00	\$750.00	\$81.47	\$814.70	\$250.00	\$2,500.00	\$45.50	\$455.00
12	Pavt, Rem	670	Syd	\$8.00	\$5,360.00	\$7.35	\$4,924.50	\$9.00	\$6,030.00	\$18.61	\$12,468.70
13	Sidewalk, Rem	435	Syd	\$12.00	\$5,220.00	\$7.46	\$3,245.10	\$8.00	\$3,480.00	\$15.38	\$6,690.30
14	Subgrade Undercutting, Type II	2,985	Cyd	\$14.25	\$42,536.25	\$35.00	\$104,475.00	\$10.00	\$29,850.00	\$47.95	\$143,130.75
15	Flowable Fill, Non-Structural	10	Cyd	\$125.00	\$1,250.00	\$468.56	\$4,685.60	\$250.00	\$2,500.00	\$551.65	\$5,516.50
16	Erosion Control, Inlet Protection, Fabric Drop	34	Ea	\$200.00	\$6,800.00	\$78.77	\$2,678.18	\$250.00	\$8,500.00	\$87.30	\$2,968.20
17	Erosion Control, Silt Fence	1,600	Ft	\$3.50	\$5,600.00	\$2.13	\$3,408.00	\$3.00	\$4,800.00	\$5.18	\$8,288.00
18	Aggregate Base, 8 inch	7,715	Syd	\$10.75	\$82,936.25	\$7.93	\$61,179.95	\$20.75	\$160,086.25	\$12.63	\$97,440.45
19	Culv End Sect, 12 inch	12	Ea	\$450.00	\$5,400.00	\$129.85	\$1,558.20	\$400.00	\$4,800.00	\$232.85	\$2,794.20
20	Culv, CI F, 12 inch	185	Ft	\$50.00	\$9,250.00	\$31.94	\$5,908.90	\$50.00	\$9,250.00	\$83.36	\$15,421.60
21	Sewer, CI E, 12 inch, Tr Det B	485	Ft	\$65.00	\$31,525.00	\$72.27	\$35,050.95	\$60.00	\$29,100.00	\$113.38	\$54,989.30
22	Sewer, CI E, 18 inch, Tr Det B	405	Ft	\$75.00	\$30,375.00	\$95.95	\$38,859.75	\$80.00	\$32,400.00	\$124.50	\$50,422.50
23	Sewer Tap, 6 inch	1	Ea	\$400.00	\$400.00	\$244.47	\$244.47	\$500.00	\$500.00	\$793.90	\$793.90
24	_Liner Installation, 8 inch	555	Ft	\$45.50	\$25,252.50	\$42.16	\$23,398.80	\$95.50	\$53,002.50	\$42.16	\$23,398.80
25	_Post-Installation CCTV Inspection	555	Ft	\$2.25	\$1,248.75	\$2.04	\$1,132.20	\$3.00	\$1,665.00	\$2.04	\$1,132.20
26	_Pre-Installation CCTV Inspection	555	Ft	\$9.50	\$5,272.50	\$8.81	\$4,889.55	\$3.25	\$1,803.75	\$8.81	\$4,889.55
27	_Sewer, Perforated, 12 inch	1,370	Ft	\$42.70	\$58,499.00	\$82.76	\$113,381.20	\$172.00	\$235,640.00	\$125.52	\$171,962.40
28	_Lateral T-Liner	4	Ea	\$6,400.00	\$25,600.00	\$6,882.35	\$27,529.40	\$13,450.00	\$53,800.00	\$6,882.35	\$27,529.40
29	_Service Reinstatement	4	Ea	\$330.00	\$1,320.00	\$84.98	\$339.92	\$920.00	\$3,680.00	\$48.98	\$195.92
30	_Sewage Bypass	1	LSUM	\$3,000.00	\$3,000.00	\$0.01	\$0.01	\$64,825.00	\$64,825.00	\$22,711.75	\$22,711.75
31	Dr Structure Cover, Adj, Case 2	2	Ea	\$250.00	\$500.00	\$628.28	\$1,256.56	\$500.00	\$1,000.00	\$793.15	\$1,586.30



PROJECT: **SUMMER / WINTER / SPRING STREET IMPROVEMENTS PROJECT**

OWNER: **City of Olivet**

BID OPENING: 02/23/2026 @ 1:30 pm

No.	Description	Qty.	Unit	Xact Excavating, LLC		Hoffman Bros, Inc		Montgomery Excavating, LLC		Rieth-Riley Construction	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
32	Dr Structure Cover, Type B	2	Ea	\$300.00	\$600.00	\$645.78	\$1,291.56	\$800.00	\$1,600.00	\$613.85	\$1,227.70
33	Dr Structure Cover, Type E	1	Ea	\$500.00	\$500.00	\$407.27	\$407.27	\$600.00	\$600.00	\$364.31	\$364.31
34	Dr Structure Cover, Type G	8	Ea	\$775.00	\$6,200.00	\$543.96	\$4,351.68	\$725.00	\$5,800.00	\$490.94	\$3,927.52
35	Dr Structure Cover, Type K	24	Ea	\$1,300.00	\$31,200.00	\$963.79	\$23,130.96	\$1,125.00	\$27,000.00	\$905.05	\$21,721.20
36	Dr Structure, 24 inch dia	14	Ea	\$1,500.00	\$21,000.00	\$2,047.36	\$28,663.04	\$2,750.00	\$38,500.00	\$1,701.22	\$23,817.08
37	Dr Structure, 48 inch dia	18	Ea	\$3,000.00	\$54,000.00	\$2,899.18	\$52,185.24	\$4,500.00	\$81,000.00	\$2,410.03	\$43,380.54
38	_Leaching Basin, 60 inch dia	1	Ea	\$5,000.00	\$5,000.00	\$7,959.61	\$7,959.61	\$10,000.00	\$10,000.00	\$5,486.75	\$5,486.75
39	Underdrain, Subbase, 6 inch	5,175	Ft	\$10.00	\$51,750.00	\$6.08	\$31,464.00	\$8.00	\$41,400.00	\$3.92	\$20,286.00
40	HMA Surface, Rem	7,680	Syd	\$2.15	\$16,512.00	\$1.62	\$12,441.60	\$6.00	\$46,080.00	\$2.53	\$19,430.40
41	HMA, 4EL	955	Ton	\$83.00	\$79,265.00	\$79.50	\$75,922.50	\$91.00	\$86,905.00	\$92.00	\$87,860.00
42	HMA, 5EL	955	Ton	\$83.00	\$79,265.00	\$79.50	\$75,922.50	\$91.00	\$86,905.00	\$94.00	\$89,770.00
43	Driveway, Nonreinf Conc, 6 inch	1,305	Syd	\$55.00	\$71,775.00	\$54.56	\$71,200.80	\$56.10	\$73,210.50	\$60.20	\$78,561.00
44	Curb and Gutter, Conc, Det C4	5,265	Ft	\$23.00	\$121,095.00	\$22.77	\$119,884.05	\$24.20	\$127,413.00	\$25.25	\$132,941.25
45	Driveway Opening, Conc, Det M	100	Ft	\$28.00	\$2,800.00	\$28.69	\$2,869.00	\$24.20	\$2,420.00	\$25.00	\$2,500.00
46	_Spillway, Conc, Modified	4	Ft	\$67.00	\$268.00	\$107.03	\$428.12	\$100.00	\$400.00	\$578.44	\$2,313.76
47	Detectable Warning Surface	65	Ft	\$50.00	\$3,250.00	\$45.00	\$2,925.00	\$71.50	\$4,647.50	\$45.00	\$2,925.00
48	Curb Ramp Opening, Conc	100	Ft	\$28.00	\$2,800.00	\$28.69	\$2,869.00	\$24.20	\$2,420.00	\$25.00	\$2,500.00
49	Sidewalk, Conc, 4 inch	3,830	Sft	\$6.75	\$25,852.50	\$5.07	\$19,418.10	\$4.70	\$18,001.00	\$8.95	\$34,278.50
50	Sidewalk, Conc, 6 inch	490	Sft	\$8.15	\$3,993.50	\$6.29	\$3,082.10	\$7.70	\$3,773.00	\$11.58	\$5,674.20
51	Curb Ramp, Conc, 6 inch	440	Sft	\$9.50	\$4,180.00	\$9.73	\$4,281.20	\$7.70	\$3,388.00	\$15.70	\$6,908.00
52	Post, Mailbox	23	Ea	\$140.00	\$3,220.00	\$26.50	\$609.50	\$125.00	\$2,875.00	\$262.88	\$6,046.24
53	Post, Steel, 3 pound	115	Ft	\$12.00	\$1,380.00	\$11.00	\$1,265.00	\$10.00	\$1,150.00	\$11.00	\$1,265.00
54	Sign, Type III, Rem	21	Ea	\$33.00	\$693.00	\$30.00	\$630.00	\$55.00	\$1,155.00	\$30.00	\$630.00
55	Sign, Type IIIA	80	Sft	\$23.00	\$1,840.00	\$21.00	\$1,680.00	\$21.00	\$1,680.00	\$21.00	\$1,680.00
56	Reflective Panel for Permanent Sign Support, 6 foot	8	Ea	\$72.00	\$576.00	\$65.00	\$520.00	\$50.00	\$400.00	\$65.00	\$520.00
57	Ground Mtd Sign Support, Rem	13	Ea	\$38.00	\$494.00	\$35.00	\$455.00	\$55.00	\$715.00	\$35.00	\$455.00
58	Pavt Mrkg, Ovly Cold Plastic, 6 inch, Crosswalk	480	Ft	\$4.00	\$1,920.00	\$3.50	\$1,680.00	\$7.00	\$3,360.00	\$10.00	\$4,800.00
59	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	105	Ft	\$14.00	\$1,470.00	\$7.50	\$787.50	\$15.00	\$1,575.00	\$20.00	\$2,100.00
60	Barricade, Type III, High Intensity, Double Sided, Lighted, F	10	Ea	\$80.00	\$800.00	\$72.80	\$728.00	\$66.00	\$660.00	\$72.80	\$728.00
61	Barricade, Type III, High Intensity, Double Sided, Lighted, O	10	Ea	\$7.00	\$70.00	\$5.60	\$56.00	\$5.50	\$55.00	\$5.60	\$56.00
62	Pedestrian Type II Barricade, Temp	12	Ea	\$67.00	\$804.00	\$61.60	\$739.20	\$50.00	\$600.00	\$61.60	\$739.20



PROJECT: **SUMMER / WINTER / SPRING STREET IMPROVEMENTS PROJECT**

OWNER: **City of Olivet**

BID OPENING: 02/23/2026 @ 1:30 pm

No.	Description	Qty.	Unit	Xact Excavating, LLC		Hoffman Bros, Inc		Montgomery Excavating, LLC		Rieth-Riley Construction	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
63	Channelizing Device, 42 inch, Fluorescent, Furn	150	Ea	\$24.00	\$3,600.00	\$22.40	\$3,360.00	\$13.25	\$1,987.50	\$22.40	\$3,360.00
64	Channelizing Device, 42 inch, Fluorescent, Oper	150	Ea	\$2.50	\$375.00	\$2.24	\$336.00	\$1.10	\$165.00	\$2.24	\$336.00
65	Lighted Arrow, Type C, Furn	1	Ea	\$500.00	\$500.00	\$448.00	\$448.00	\$330.00	\$330.00	\$448.00	\$448.00
66	Lighted Arrow, Type C, Oper	1	Ea	\$60.00	\$60.00	\$56.00	\$56.00	\$5.50	\$5.50	\$56.00	\$56.00
67	Minor Traf Devices	1	LSUM	\$3,000.00	\$3,000.00	\$165,000.01	\$165,000.01	\$4,100.00	\$4,100.00	\$4,519.27	\$4,519.27
68	Sign, Type B, Temp, Prismatic, Furn	400	Sft	\$5.00	\$2,000.00	\$4.58	\$1,832.00	\$3.00	\$1,200.00	\$4.58	\$1,832.00
69	Sign, Type B, Temp, Prismatic, Oper	400	Sft	\$1.00	\$400.00	\$0.12	\$48.00	\$0.30	\$120.00	\$0.12	\$48.00
70	Sign, Type B, Temp, Prismatic, Spec, Furn	100	Sft	\$5.00	\$500.00	\$4.68	\$468.00	\$8.50	\$850.00	\$4.68	\$468.00
71	Sign, Type B, Temp, Prismatic, Spec, Oper	100	Sft	\$1.00	\$100.00	\$0.12	\$12.00	\$0.30	\$30.00	\$0.12	\$12.00
72	Riprap, Plain	5	Syd	\$150.00	\$750.00	\$123.52	\$617.60	\$75.00	\$375.00	\$317.93	\$1,589.65
73	Site Preparation, Max \$5,000	1	LSUM	\$5,000.00	\$5,000.00	\$1,250.00	\$1,250.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
74	Watering and Cultivating, First Season, Min \$5,000	1	LSUM	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00
75	_Acer rubrum 'Armstrong Gold', 2 inch	22	Ea	\$654.00	\$14,388.00	\$910.00	\$20,020.00	\$500.00	\$11,000.00	\$595.00	\$13,090.00
76	_Ginkgo bilboa 'Princeton Sentry', 2 inch	31	Ea	\$880.00	\$27,280.00	\$610.00	\$18,910.00	\$500.00	\$15,500.00	\$800.00	\$24,800.00
77	_Restoration	1	LSUM	\$31,000.00	\$31,000.00	\$130,978.82	\$130,978.82	\$72,750.00	\$72,750.00	\$94,858.54	\$94,858.54
78	Gate Valve and Box, 8 inch	12	Ea	\$2,000.00	\$24,000.00	\$2,061.43	\$24,737.16	\$2,264.00	\$27,168.00	\$2,651.58	\$31,818.96
79	Hydrant, Rem	3	Ea	\$1,000.00	\$3,000.00	\$1,359.38	\$4,078.14	\$750.00	\$2,250.00	\$669.90	\$2,009.70
80	_Copper Water Service Pipe, 1 inch	1,065	Ft	\$80.00	\$85,200.00	\$56.30	\$59,959.50	\$55.00	\$58,575.00	\$99.19	\$105,637.35
81	_Copper Water Service Pipe, 2 inch	70	Ft	\$102.00	\$7,140.00	\$104.01	\$7,280.70	\$100.00	\$7,000.00	\$135.77	\$9,503.90
82	_HDPE Water Service Pipe, 1 inch	100	Ft	\$66.00	\$6,600.00	\$57.98	\$5,798.00	\$47.75	\$4,775.00	\$145.20	\$14,520.00
83	_HDPE Water Service Pipe, 2 inch	50	Ft	\$75.00	\$3,750.00	\$59.00	\$2,950.00	\$75.00	\$3,750.00	\$502.26	\$25,113.00
84	_Water Main, DI, 6 inch, Tr Det G, Modified	125	Ft	\$140.00	\$17,500.00	\$87.89	\$10,986.25	\$115.00	\$14,375.00	\$235.09	\$29,386.25
85	_Water Main, DI, 8 inch, Tr Det G, Modified	2,840	Ft	\$103.00	\$292,520.00	\$91.30	\$259,292.00	\$153.00	\$434,520.00	\$139.39	\$395,867.60
86	_Insulation Board, 2 inch	100	Sft	\$4.50	\$450.00	\$6.52	\$652.00	\$1.00	\$100.00	\$10.00	\$1,000.00
87	_Building Reconnection, Basement	1	Ea	\$3,000.00	\$3,000.00	\$2,702.60	\$2,702.60	\$5,300.00	\$5,300.00	\$5,550.00	\$5,550.00
88	_Building Reconnection, Crawl Space	1	Ea	\$3,500.00	\$3,500.00	\$3,702.60	\$3,702.60	\$5,450.00	\$5,450.00	\$5,550.00	\$5,550.00
89	_Building Reconnection, Slab	1	Ea	\$5,000.00	\$5,000.00	\$4,969.93	\$4,969.93	\$5,400.00	\$5,400.00	\$5,550.00	\$5,550.00
90	_Connect to Existing Main, 4 inch	4	Ea	\$2,000.00	\$8,000.00	\$2,505.99	\$10,023.96	\$2,500.00	\$10,000.00	\$7,081.51	\$28,326.04
91	_Connect to Existing Main, 6 inch	4	Ea	\$2,100.00	\$8,400.00	\$2,598.04	\$10,392.16	\$3,000.00	\$12,000.00	\$6,519.09	\$26,076.36
92	_Hydrant, Valve and Box, 6 inch	8	Ea	\$6,200.00	\$49,600.00	\$7,534.51	\$60,276.08	\$8,800.00	\$70,400.00	\$6,811.07	\$54,488.56
93	_Water Main Line Stop, 4 inch	4	Ea	\$5,300.00	\$21,200.00	\$5,458.50	\$21,834.00	\$5,060.00	\$20,240.00	\$4,780.27	\$19,121.08

PROJECT: **SUMMER / WINTER / SPRING STREET IMPROVEMENTS PROJECT**

OWNER: **City of Olivet**

BID OPENING: 02/23/2026 @ 1:30 pm

No.	Description	Qty.	Unit	Xact Excavating, LLC		Hoffman Bros, Inc		Montgomery Excavating, LLC		Rieth-Riley Construction	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
94	_Water Main Line Stop, 6 inch	4	Ea	\$5,700.00	\$22,800.00	\$6,402.75	\$25,611.00	\$5,280.00	\$21,120.00	\$5,140.27	\$20,561.08
95	_Water Main, 4 inch, Cut and Plug, Modified	2	Ea	\$700.00	\$1,400.00	\$829.73	\$1,659.46	\$2,500.00	\$5,000.00	\$587.16	\$1,174.32
96	_Water Main, 6 inch, Cut and Plug, Modified	1	Ea	\$1,000.00	\$1,000.00	\$1,142.57	\$1,142.57	\$2,750.00	\$2,750.00	\$628.17	\$628.17
97	_Water Service, 1 inch	33	Ea	\$1,995.00	\$65,835.00	\$854.71	\$28,205.43	\$1,304.00	\$43,032.00	\$1,200.84	\$39,627.72
98	_Water Service, 2 inch	2	Ea	\$3,300.00	\$6,600.00	\$2,278.10	\$4,556.20	\$1,750.00	\$3,500.00	\$2,159.04	\$4,318.08
99	Sanitary Structure Cover, Type Q	9	Ea	\$850.00	\$7,650.00	\$675.77	\$6,081.93	\$900.00	\$8,100.00	\$647.30	\$5,825.70
100	Sanitary Structure, Adj, Add Depth	3	Ft	\$850.00	\$2,550.00	\$285.54	\$856.62	\$1,000.00	\$3,000.00	\$347.00	\$1,041.00
101	Sanitary Sewer, Serv Lead, PVC, 6 inch	200	Ft	\$40.00	\$8,000.00	\$67.37	\$13,474.00	\$85.00	\$17,000.00	\$115.50	\$23,100.00
102	_Sanitary Structure Cover, Adj, Case 1, Modified	9	Ea	\$1,000.00	\$9,000.00	\$1,094.50	\$9,850.50	\$500.00	\$4,500.00	\$1,267.49	\$11,407.41
103	_Compact Ductile Iron Fittings	1,970	Lb	\$10.00	\$19,700.00	\$5.42	\$10,677.40	\$10.00	\$19,700.00	\$6.86	\$13,514.20
Total Bid					\$1,885,426.25		\$2,260,727.00		\$2,788,243.50		\$2,795,824.30